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MEASURES OF CENTRAL TENDENCY

Illustration

1. The arithmetic mean of first  natural numbers, is

A. 

B. 

C. 

D. 

Answer: B

W t h Vid S l ti

n

π

2

n + 1

2

n(n + 1)

2

n − 1

2

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_yAVtfEKuC7qn


Watch Video Solution

2. The arithmetic mean of first  odd natural numbers, is

A. n

B. 

C. 

D. 

Answer: A

Watch Video Solution

n

n

2

n − 1

2

n + 2

2

3. The arthmetic mean of the numbers 

 is

A. 

B. 

1, 3, 32, …, 3n− 1,

3n − 1
2

3n − 1
2n

https://dl.doubtnut.com/l/_yAVtfEKuC7qn
https://dl.doubtnut.com/l/_4QtDMU38voIL
https://dl.doubtnut.com/l/_FwL40kZxSrNB


C. 

D. 

Answer: B

Watch Video Solution

3n + 1
2

3n + 1
2n

4. The arithmetic mean of , is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

nC0, nC1, nC2, ..., nCn

1

n

2n

n

2n− 1

n

2n+ 1

n

https://dl.doubtnut.com/l/_FwL40kZxSrNB
https://dl.doubtnut.com/l/_nvgr2sOn4r61


5. If the mean of numbers 27, 31, 89, 107, 156, is 82, then the mean of 130,

126, 68, 50, 1 is

A. 80

B. 82

C. 157

D. 75

Answer: D

Watch Video Solution

6. if the mean of first  natural numbers is, then 

A. 5

B. 4

C. 9

D. none of these

n
5n

9
n =

https://dl.doubtnut.com/l/_dajoU3sftKks
https://dl.doubtnut.com/l/_4EGQw5FgxO9Z


Answer: C

Watch Video Solution

7. If the arithmetic mean of the observations  is ,

then the arithmetic mean of  is

A. greater than 1

B. Less than 1

C. equal to 1

D. none of these

Answer: D

Watch Video Solution

x1, x2, x3, ............. xn 1

, , , ............. , (k > 0)
x1

k

x2

k

x3

k

xn

k

8. The mean of first 
odd natural numbers is 
, then 
 (a) 9 (b) 81

(c) 27 (d) 18

n
n2

81
n =

https://dl.doubtnut.com/l/_4EGQw5FgxO9Z
https://dl.doubtnut.com/l/_eVXcZS4YfbFA
https://dl.doubtnut.com/l/_YIPgeIqpAwKC


A. 9

B. 81

C. 27

D. none of these

Answer: B

Watch Video Solution

9. If the mean
of 
find 

A. 0

B. 1

C. -1

D. 2

Answer: C

Watch Video Solution

x + 2,  2x + 3,  3x + 4,  4x + 5 is x + 2, x

https://dl.doubtnut.com/l/_YIPgeIqpAwKC
https://dl.doubtnut.com/l/_GZ44Dn01esIK


10. If the mean of the following distribution is 2.6, then the value of 
 is

Variable 
: 1 2 3 4 5
Frequency 
: 4 5 
1 2
(a) 3 (b) 8 (c) 13 (d) 24

A. 3

B. 8

C. 13

D. 24

Answer: B

Watch Video Solution

y

(x) (y) y

11. The arithmetic mean of the following frequency distribution: 

 is

A. 

B. 

Variate(X) : 0 1 2 3 ... n

Frequency(f) : nC0
nC1

nC2
nC3 ... nCn

2n

n

2n

n + 1

https://dl.doubtnut.com/l/_GZ44Dn01esIK
https://dl.doubtnut.com/l/_6T8aeLXGOw9p
https://dl.doubtnut.com/l/_ykgdBJQ8EvQh


C. 

D. 

Answer: C

Watch Video Solution

n

2

2

n

12. If the mean of the following frequency distribution is 5, then b = 

A. 10

B. 6

C. 8

D. none of these

Answer: B

Watch Video Solution

xi   : 3 5 7 4

fi   : 2 a 5 b

https://dl.doubtnut.com/l/_ykgdBJQ8EvQh
https://dl.doubtnut.com/l/_ckKOXyHZvKsM
https://dl.doubtnut.com/l/_ZeqDYCTVBLCc


13. If the arithmetic mean of the following distribution is 8.2, then a = 

A. 5

B. 6

C. 9

D. none of these

Answer: B

Watch Video Solution

xi   : 1 3 5 9 11 13

fi   : 3 2 7 a 4 8

14. The mean of a set of observations is  . If each observation is

multiplied by  and each product is decreased by , then the mean of new

set of observations is

A. 

B. 

a

b c

+ c
a

b

ab − c

https://dl.doubtnut.com/l/_ZeqDYCTVBLCc
https://dl.doubtnut.com/l/_ztGGeuoaoOLN


C. 

D. 

Answer: B

Watch Video Solution

− c
a

b

ab + c

15. The average score of boys in an examination of a school is 71 and that

of girls is 73. The average score of school in that examinations is 71.8. The

ratio of the number of boys to the number of girls appeared in the

examination, is

A. 

B. 

C. 

D. 

Answer: A

W t h Vid S l ti

3: 2

3: 4

1: 2

2: 1

https://dl.doubtnut.com/l/_ztGGeuoaoOLN
https://dl.doubtnut.com/l/_GFkhWW8Ma0y5


Watch Video Solution

16. The mean weight of 150 students in a certain class is 60 kg. The mean

weight of boys in the class is 70 kg and that of girls is 55 kg. What is the

number of boys in the class?

A. 100 and 50

B. 50 and 100

C. 150 and 100

D. 100 and 150

Answer: A

Watch Video Solution

17. The
average marks of boys in a class is 52 and that of girls is 42. The

average
marks of boys and girls combined is 50. The percentage of boys

in the class
is
(1)
40
(2) 20
(3) 80
(4) 60

https://dl.doubtnut.com/l/_GFkhWW8Ma0y5
https://dl.doubtnut.com/l/_hxExQ3sQtOOF
https://dl.doubtnut.com/l/_qeDe6zGqYGsd


A. 80

B. 60

C. 40

D. 20

Answer: A

Watch Video Solution

18. 10 is the mean of a set of 7 observations and 5 is the mean of a set of

3 observations, the mean of the combined set is

A. 15

B. 10

C. 8.5

D. none of these

Answer: C

https://dl.doubtnut.com/l/_qeDe6zGqYGsd
https://dl.doubtnut.com/l/_1YOaBQDqm387


Watch Video Solution

19. A student
obtained 60, 75 and 85 marks respectively in three monthly

examinations in
Physics and 95 marks in the final examination. The three

monthly examinations
 are of equal weightage whereas the final

examination is weighted twice as
 much as a monthly examination. His

average marks in Physics are
(a)
78.75 (b) 79 (c) 82
(d) 85

A. 80

B. 81

C. 82

D. 85

Answer: C

Watch Video Solution

20. Compute the geometric mean of 2, 4, 8.

https://dl.doubtnut.com/l/_1YOaBQDqm387
https://dl.doubtnut.com/l/_BdpjxXUVOGu3
https://dl.doubtnut.com/l/_YHV1Ov5wlq5T


Watch Video Solution

21. The median of the following marks of  students in a class, is

A. 32

B. 34

C. 38

D. 30

Answer: A

Watch Video Solution

9

34, 32, 48, 38, 24, 30, 27, 21, 35

22. Find the median of the daily wages of ten workers from the following

data: Rs 20, 25, 17, 18, 8, 15, 22,
11, 9, 14.

A. 15

https://dl.doubtnut.com/l/_YHV1Ov5wlq5T
https://dl.doubtnut.com/l/_byuW6OZM62xM
https://dl.doubtnut.com/l/_vf23AuJumURj


B. 16

C. 17

D. 14

Answer: B

Watch Video Solution

23. The median of 21 observations is 18. if two observations 15 and 24

included to the observations, then the median of new series is

A. 15

B. 18

C. 24

D. 16

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_vf23AuJumURj
https://dl.doubtnut.com/l/_v8viXEhoPCqg


24. The median of the series  lies in the interval

A. [12, 15]

B. [7, 15]

C. [15, 17]

D. [9, 12]

Answer: A

Watch Video Solution

8, 12, 15, 7, x, 19, 22

25. If the median of the data

, then the median of  is

A. 

B. 

x1, x2, x3, x4, x5, x6, x7, x8  is α and x1 < x2 < x3 < x4 < x5 < x6 < x

x3, x4, x5, x6

α

α

2

https://dl.doubtnut.com/l/_v8viXEhoPCqg
https://dl.doubtnut.com/l/_TmeHx8RhNB1u
https://dl.doubtnut.com/l/_xN3vZ4ESFfnO


C. 

D. 

Answer: A

Watch Video Solution

α

3

α

4

26. If the mean of 26 , 19 , 15 , 24 , and x is x , then find the median of the

data .

A. 23

B. 22

C. 20

D. 21

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_xN3vZ4ESFfnO
https://dl.doubtnut.com/l/_CDySqSumrOj8
https://dl.doubtnut.com/l/_eDNTxIcjPO8s


27. If a , b, c, d are non-zero integers such that  and median

of a, b, c are both equal to zero, then which one of the following is

correct?

A. b = -c

B. a = -d

C. both (a) and (b)

D. none of these

Answer: C

Watch Video Solution

a < b < c < d

28. The mean and median of the data a, b and c are 50 and 35 , where

 . If  , then find (b - a) .

A. 8

B. 7

a < b < c c − a = 55

https://dl.doubtnut.com/l/_eDNTxIcjPO8s
https://dl.doubtnut.com/l/_D7QGa4dYTyWz


C. 3

D. 5

Answer: D

Watch Video Solution

29. if  and the mean and median of  are 

respectively then 

A. 7

B. 11

C. 10

D. 8

Answer: B

Watch Video Solution

x < y < 2x x, y, 2x 15, 12

x

https://dl.doubtnut.com/l/_D7QGa4dYTyWz
https://dl.doubtnut.com/l/_4LAaLxgzuc0T
https://dl.doubtnut.com/l/_kduzngJaOXUL


30. If the mean of the squares of first n natural numbers is 105 , then find

the median of the first n natural numbers .

A. 8

B. 9

C. 10

D. 11

Answer: B

Watch Video Solution

31. The median for the following frequency distribution is : 

A. 6

B. 5

C. 7

xi   : 1 2 3 4 5 6 7 8 9

fi   : 8 10 11 16 20 25 15 9 6

https://dl.doubtnut.com/l/_kduzngJaOXUL
https://dl.doubtnut.com/l/_oDiHK1SRJpXC


D. 4

Answer: B

Watch Video Solution

32. The median from the following distribution is 

A. 19

B. 19.5

C. 20

D. 18

Answer: B

Watch Video Solution

Class: 5 − 10 10 − 15 15 − 20 20 − 25 25 − 30 30 − 35 35 −

Frequency: 5 6 15 10 5 4 2

https://dl.doubtnut.com/l/_oDiHK1SRJpXC
https://dl.doubtnut.com/l/_J5YBEOP2qMQy


33. For the following information of wages of 30 workers in a factory, the

value of  is 

A. 1187.5

B. 789.5

C. 705

D. 872.5

Answer: A

View Text Solution

Q1 + Q2 + Q3

34. For the following data the value of  is 

A. 

B. 

Q1 + Q3 − Q2,

Age in years : 20 30 40 50 60 70 80

No. of members : 3 61 132 153 140 51 3

Q1

Q2

https://dl.doubtnut.com/l/_rkLaH9UbAGEQ
https://dl.doubtnut.com/l/_xi6Ih1Qh0Ji2


C. 

D. 

Answer: B

Watch Video Solution

Q3

2Q2

35. For the following data: 

 


The value of  is equal to

A. 

B. 

C. 

D. none of these

Answer: D

Watch Video Solution

Weekly income(in Rs.) : 58 59 60 61 62 63 64 65 66

No. of Workers : 2 3 6 15 10 5 4 3 1
Q1 + Q3

2

Q1

Q2

Q3

https://dl.doubtnut.com/l/_xi6Ih1Qh0Ji2
https://dl.doubtnut.com/l/_CG9gxNvjK7kV


36. The value of  for the following distribution is 

A. 15

B. 21.5

C. 25

D. 25.5

Answer: C

Watch Video Solution

Q3

Marks group: 5 − 10 10 − 15 15 − 20 20 − 25 25 − 30 30 − 35 35

No of Student: 5 6 15 10 5 4 2

37. The mode of the following data : 

 is

A. 110

B. 120

120, 110, 130, 110, 120, 140, 130, 120, 140, 120,

https://dl.doubtnut.com/l/_CG9gxNvjK7kV
https://dl.doubtnut.com/l/_vqQTKhFReJaZ
https://dl.doubtnut.com/l/_gzuvIKlvVFRO


C. 130

D. 115

Answer: B

Watch Video Solution

38. The mode of the following discrete series is: 

A. 3

B. 12

C. 8

D. 6

Answer: D

Watch Video Solution

xi 1 3 5 6 12 15

fi 5 7 3 8 6 5

https://dl.doubtnut.com/l/_gzuvIKlvVFRO
https://dl.doubtnut.com/l/_efjBy09j59Jb
https://dl.doubtnut.com/l/_G5DuAQRVgvoT


39. If the mode of observations  is 3, then

median of the observation is

A. 3

B. 4

C. 5

D. 3.5

Answer: B

Watch Video Solution

5, 4, 4, 3, 5, x, 3, 4, 3, 5, 4, 3, 5

40. The mode for the following frequency distribution : 

A. 32.66

B. 12

C. 14

https://dl.doubtnut.com/l/_G5DuAQRVgvoT
https://dl.doubtnut.com/l/_Y7x2sXdXldJU


D. none of these

Answer: A

View Text Solution

41. The modal class for the following frequency distribution, is 

A. 20-40

B. 40-50

C. 50-60

D. 70-90

Answer: B

Watch Video Solution

Marks: 0 − 10 10 − 20 20 − 40 40 − 50 50 − 60 60 − 70 7

No. of students: 4 6 14 16 14 8 1

https://dl.doubtnut.com/l/_Y7x2sXdXldJU
https://dl.doubtnut.com/l/_YFhgQEUJFNyV


42. If  and 17.5 is the mode of the following frequency distribution. 


 


Then, x =

A. 3

B. 2

C. 4

D. 5

Answer: A

Watch Video Solution

x < 6

Class-interval: 0 − 5 5 − 10 10 − 15 15 − 20 20 − 25

Frequency: 5 2 3 6 x

43. If the mode for the following frequency distribution is 22 and

 


A. 2

10 > y > x, them y =

Class-interval: 0 − 10 10 − 20 20 − 30 30 − 40 40 − 50 Total

Frequency: 5 8 10 x y 30

https://dl.doubtnut.com/l/_LVDgVt1JSVdo
https://dl.doubtnut.com/l/_jg6oAGO8xxOH


B. 5

C. 3

D. 4

Answer: B

Watch Video Solution

44. If the
ratio of mean and median of a certain data is 2:3, then find the

ratio of its
mode and mean.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

4: 3

7: 6

7: 8

5: 2

https://dl.doubtnut.com/l/_jg6oAGO8xxOH
https://dl.doubtnut.com/l/_lQHv5LFjeMw9


45. If the
ratio of mode and median of a certain data is 6:5, then find the

ratio of its
mean and median.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

8: 9

9: 10

9: 7

8: 11

46. If the difference of mode and median of a data is 24, then the

difference of median and mean is
(a) 12 (b) 24 (c) 8 (d) 36

A. 12

B. 24

https://dl.doubtnut.com/l/_lQHv5LFjeMw9
https://dl.doubtnut.com/l/_XiU1fqUhb64q
https://dl.doubtnut.com/l/_y2MXU1PE8pQ4


C. 8

D. 36

Answer: A

Watch Video Solution

47. The
arithmetic mean and mode of a data are 24 and 12 respectively,

then find the medina of the data.

A. 20

B. 18

C. 21

D. 22

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_y2MXU1PE8pQ4
https://dl.doubtnut.com/l/_OIIjc6Hhd6mp
https://dl.doubtnut.com/l/_m4HmeMopQ2xA


Section I Solved Mcqs

48. If a mode exceeds a mean by 12 , then the mode exceeds the median

by .

A. 4

B. 8

C. 6

D. 10

Answer: B

Watch Video Solution

__________

1. If the arithmetic mean of the first n natural numbers is 15 , then n is

 .

A. 15

__________

https://dl.doubtnut.com/l/_m4HmeMopQ2xA
https://dl.doubtnut.com/l/_hHdWv6cYMfbt


B. 20

C. 14

D. 29

Answer: D

Watch Video Solution

2. If the arithmetic mean of 7 , 8 , x , 11 , 14 is x , then x is .

A. 9

B. 9.5

C. 10

D. 10.5

Answer: C

Watch Video Solution

__________

https://dl.doubtnut.com/l/_hHdWv6cYMfbt
https://dl.doubtnut.com/l/_LDxJLKc9mj5G
https://dl.doubtnut.com/l/_PaRFXNIVww6L


3. The mean of 16 observations is 16 . If one observation 16 is deleted and

three observations 5 , 5 and 6 are included , then find the mean of the

final observations .

A. 16

B. 15.5

C. 13.5

D. none of these

Answer: D

Watch Video Solution

4. The arithmetic of 12 observations is 15. If two observations 20 and 25

are removed then the arithmetic mean of remaining observations is

A. 14.5

B. 13.5

https://dl.doubtnut.com/l/_PaRFXNIVww6L
https://dl.doubtnut.com/l/_tUUvlaxnGN4l


C. 12.5

D. 13

Answer: B

Watch Video Solution

5. If the average of a, b, c and d is the average of b and c, then which one

of the following is necessarily true?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

a + d = b + c

a + b = c + d

a − d = b − c

=
a + d

4
b + c

2

https://dl.doubtnut.com/l/_tUUvlaxnGN4l
https://dl.doubtnut.com/l/_kuVBlV0lELjn
https://dl.doubtnut.com/l/_IfEN1DVXL55o


6. If the arithmetic mean of the following data is 7, then a + b = 

A. 4

B. 2

C. 3

D. cannot be determined

Answer: D

Watch Video Solution

xi 4 6 7 9

fi a 4 b 5

7. The average of n numbers  is M. If  is replaced by x' ,

then the new average is

A. 

B. 

C. 

x1, x2, …, xn xn

M − xn + x'

n

(n − 1)M + x'

n

nM − xn + x'

n

https://dl.doubtnut.com/l/_IfEN1DVXL55o
https://dl.doubtnut.com/l/_W2I0ArRdn5LM


D. 

Answer: C

Watch Video Solution

M − xn + x'

8. For a symmetrical distribution  The value of 

 percentile, is

A. 20

B. 30

C. 40

D. none of these

Answer: B

Watch Video Solution

Q1 = 20 and Q3 = 40.

50th

https://dl.doubtnut.com/l/_W2I0ArRdn5LM
https://dl.doubtnut.com/l/_61ZuwBaYntRP


9. The mean of the series a, a + d, a + 2d, …, a + 2 nd, is

A. a + (n - 1) d

B. a + nd

C. a + (n + 1) d

D. none of these

Answer: B

Watch Video Solution

10. If the mean of the following data is 5.5, then x = 

A. 6

B. 8

C. 15

xi 2 4 6 8

fi 3 5 6 x

https://dl.doubtnut.com/l/_xtxy3c5AROYf
https://dl.doubtnut.com/l/_5ZlFGtrSFdlv


D. 11

Answer: A

Watch Video Solution

11. The median of the data 5 , 6 , 7, 8 , 9 , 10 is .

A. 7

B. 8

C. 7.5

D. 8.5

Answer: C

Watch Video Solution

__________

https://dl.doubtnut.com/l/_5ZlFGtrSFdlv
https://dl.doubtnut.com/l/_wL9X6y3fHaWy


12. The Median of the following discrete series is 

A. 7

B. 8

C. 9

D. 6

Answer: A

Watch Video Solution

xi 3 6 5 8 12 7

fi 5 2 4 6 7 6

13. The median class in the following frequency distribution is 

A. 

B. 

C. 

Class interval : 0 − 10 10 − 20 20 − 30 30 − 40 40 − 50

Frequency : 12 13 25 20 10

10 − 20

20 − 30

30 − 40

https://dl.doubtnut.com/l/_lYjsME84FhV6
https://dl.doubtnut.com/l/_giexC9523z05


D. none of these

Answer: B

Watch Video Solution

14. The number of observations in a group is 40. If the average of first 10

is 4.5 and that of the remaining 30 is 3.5 then the average of the whole

group is

A. 

B. 

C. 8

D. 4

Answer: A

Watch Video Solution

15

4

1

5

https://dl.doubtnut.com/l/_giexC9523z05
https://dl.doubtnut.com/l/_a0Ea8B25enhl
https://dl.doubtnut.com/l/_ZFdYOP7zAPC2


15. GM of the numbers  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

3, 32, 33, ..., 3n

32 /n

3
n− 1

2

3n/ 2

3
n+ 1

2

16. If the median of 25 observations is 45 and if the observations greater

than the median are increased by 4, then the median of the new data is

A. 49

B. 41

C. 45

D. none of these

https://dl.doubtnut.com/l/_ZFdYOP7zAPC2
https://dl.doubtnut.com/l/_G5CVIyW0F5Bu


Answer: C

Watch Video Solution

17. The median of a set of a observations is 20.5. If each of the largest 4

observations of the set is increasted by 2, then the median of the new set

is

A. remains the same as that of origingal set

B. is increased by 2

C. is decreased by 2

D. is two times the original median

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_G5CVIyW0F5Bu
https://dl.doubtnut.com/l/_mqcXNCAzu4fR


18. A boy goes to a school from his home at a speed of x km/hr and comes

back at a speed of y km/hr, then the average speed is given by

A. AM

B. GM

C. HM

D. none of these

Answer: C

Watch Video Solution

19. A car complete the first half of its journey with speed , and the rest

half with speed . The average speed of the car in whole journey:

A. 

B. 

C. 

v1

v2

2v1v2

v1 + v2

v1 + v2

2

√v1v2

https://dl.doubtnut.com/l/_FgZRcng3yZde
https://dl.doubtnut.com/l/_uy9pZ42skIbW


D. none of these

Answer: A

Watch Video Solution

20. A person
purchases 1 kg of tomatoes from each of the 4 places at the

rate of 1 kg, 2
kg, 3 kg, 4 kg per rupee respectively. On an average, he has

purchased 
kg of
tomatoes per rupee. Then the value of 
is
(a)
1.92 (b) 2

(c) 2.5
(d) None of these

A. 2

B. 25

C. 1.92

D. none of these

Answer: C

Watch Video Solution

x x

https://dl.doubtnut.com/l/_uy9pZ42skIbW
https://dl.doubtnut.com/l/_b22ISxqwVSiq


21. The mode of the following distribution is 

A. 14.5

B. 16.5

C. 10.5

D. 13.5

Answer: D

Watch Video Solution

Class interval : 1 − 5 6 − 10 11 − 15 16 − 20 21 − 25

Frequency : 4 7 10 8 6

22. The median of 100 observations grouped in classes of equal width is

25. If the median class interval is 20-30 and the number of observations

less than 20 is 45, then the frequency of median class is

A. 20

B. 12

https://dl.doubtnut.com/l/_QuhwdA5GDhjd
https://dl.doubtnut.com/l/_pVsM2TX2BcVe


C. 10

D. 15

Answer: C

Watch Video Solution

23. The age distribution of 400 persons in a colony having median age 32

is given below: 

Then, x - y is

A. 10

B. 20

C. -10

D. -20

Answer: C

Age (in years) : 20 − 25 25 − 30 30 − 35 35 − 40 40 − 45 45 − 50

Frequency : 110 x 75 55 y 30

https://dl.doubtnut.com/l/_pVsM2TX2BcVe
https://dl.doubtnut.com/l/_E3hDvcUuHi4Z


Exercise

Watch Video Solution

24. The
mean of the data set comprising of 16 observations is 16. If one of

the
observation valued 16 is deleted and three new observations valued 3,

4 and 5
are added to the data, then the mean of the resultant data, is : (1)

16.8 (2) 16.0 (3) 15.8 (4) 14.0

A. 15.8

B. 14

C. 16.8

D. 

Answer: B

Watch Video Solution

16.0

https://dl.doubtnut.com/l/_E3hDvcUuHi4Z
https://dl.doubtnut.com/l/_cLW4yWyu9l4d


1. If the mean of a set of observations , then the

mean of the observations  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x1, x2, …, xn  is ¯̄X̄

xi + 2i, i = 1, 2, ..., n

¯̄X̄ + 2

¯̄X̄ + 2n

¯̄X̄ + (n + 1)

X + n

2. If a variate  is expressed as a linear function of two variates 

in the form  then the mean  of  is

A. 

B. 

C. 

X U and V

X = aU + bV ¯̄X̄ X

a¯̄̄U + b ¯̄̄V

¯̄̄U + ¯̄̄V

b¯̄̄U + a¯̄̄U

https://dl.doubtnut.com/l/_iy0tNNTWeqm6
https://dl.doubtnut.com/l/_RwSpxXlnnesS


D. none of these

Answer: A

Watch Video Solution

3. The AM of n numbers of a series is  If the sum of first (n-1) terms is k,

then the  number is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

¯̄X̄ .

nth

¯̄X̄ − k

n¯̄X̄ − k

¯̄X̄ − nk

n¯̄X̄ − nk

https://dl.doubtnut.com/l/_RwSpxXlnnesS
https://dl.doubtnut.com/l/_lakoECo4dcCZ


4. The means of a set of numbers is . If each number is divided by 3,

then the new mean is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

¯̄X̄

¯̄X̄

¯̄X̄ + 3

3¯̄X̄

X

3

5. The weighted mean of first n natural numbers when their weights are

equal to corresponding natural number, is

A. 

B. 

C. 

2n + 1

(2n + 1)
1

2

(2n + 1)
1

3

https://dl.doubtnut.com/l/_tphILRu1tjVT
https://dl.doubtnut.com/l/_0KgyiYIEvFpj


D. 

Answer: C

Watch Video Solution

2n + 1

6

6. The A.M. of the series  is -

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

1, 2, 4, 8, 16, .... . , 2n

2n − 1
n

2n+ 1 − 1
n + 1

2n + 1
n

2n − 1
n + 1

https://dl.doubtnut.com/l/_0KgyiYIEvFpj
https://dl.doubtnut.com/l/_0dbGSNcJTNVv


7. If the mean of n observations  is  then the sum of

deviations of observations from mean is

A. 0

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

x1, x2, x3...xn x̄

¯̄X̄
n

n¯̄X̄

8. The one which is the measure of the central tendency is

A. mode

B. mean deviation

C. standard deviation

D. coefficient of correlation

https://dl.doubtnut.com/l/_2ALSqPEzBHfT
https://dl.doubtnut.com/l/_YpVGsmV2QtMY


Answer: A

Watch Video Solution

9. The most stable measure of central tendency is

A. the mean

B. the median

C. the mode

D. none of these

Answer: A

Watch Video Solution

10. The mean of the distribution, in which the values of X are 1, 2, ..,n the

frequency of each being unity is :

https://dl.doubtnut.com/l/_YpVGsmV2QtMY
https://dl.doubtnut.com/l/_AwRd9mmMemG5
https://dl.doubtnut.com/l/_3MMxPyh1RC5C


A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

n(n + 1)

2

n

2

n + 1

2

11. 10 is the mean of a set of 7 observations and 5 is the mean of a set of 3

observations, the mean of the combined set is

A. 15

B. 10

C. 8.5

D. 7.5

Answer: C

https://dl.doubtnut.com/l/_3MMxPyh1RC5C
https://dl.doubtnut.com/l/_HzvZC6rXBcoZ


Watch Video Solution

12. A statistical measure which cannot be determind graphically is

A. median

B. mode

C. harmonic mean

D. mean

Answer: C

Watch Video Solution

13. The measure which takes into account all the data items is

A. mean

B. median

C. mode

https://dl.doubtnut.com/l/_HzvZC6rXBcoZ
https://dl.doubtnut.com/l/_3edxqecccZEW
https://dl.doubtnut.com/l/_sBU5xHydcc2L


D. none of these

Answer: A

Watch Video Solution

14. An ogive is used to determine

A. mean

B. median

C. mode

D. HM

Answer: B

Watch Video Solution

15. The geometric mean of the series  is1, 2, 4, 8, 16, .... , 2n

https://dl.doubtnut.com/l/_sBU5xHydcc2L
https://dl.doubtnut.com/l/_Z08NojU7kMwi
https://dl.doubtnut.com/l/_n2dGZ059HosY


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2n+ 1 / 2

2n+ 1

2n/ 2

2n

16. If  are the geometric means fo two series of observations and G

is the GM of the ratios of the corresponding observations then G is equal

to

A. 

B. 

C. 

D. 

G1, G2

G1

G2

logG1 − logG2

logG1

logG2

log(G1 ⋅ G2)

https://dl.doubtnut.com/l/_n2dGZ059HosY
https://dl.doubtnut.com/l/_S20PobQNG8pZ


Answer: A

Watch Video Solution

17. If G is the GM of the product of r sets of observations with geometric

means  respectively, then G is equal to

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

G1, G2, …, Gr

logG1 + logG2 + … + logGr

G1 ⋅ G2 ⋅ … ⋅ Gr

logG1 ⋅ logG2…logGr

18. A group of 10 items has arithmetic mean 6. If the arithmetic mean of 4

of these items is 7.5, then the mean of the remaining items is

https://dl.doubtnut.com/l/_S20PobQNG8pZ
https://dl.doubtnut.com/l/_6jHB1TpWTSdA
https://dl.doubtnut.com/l/_xWZhHJ4JidTe


A. 6.5

B. 5.5

C. 4.5

D. 

Answer: D

Watch Video Solution

5.0

19. The arithmetic mean of a set of observations is . If each observation

is divided by  and then is increased by 10, then the mean of the new

series is

A. 

B. 

C. 

D. 

¯̄X̄

α

¯̄X̄
α

¯̄X̄ + 10
α

¯̄X̄ + 10α
α

α¯̄X̄ + 10

https://dl.doubtnut.com/l/_xWZhHJ4JidTe
https://dl.doubtnut.com/l/_rrn9HdMsimV4


Answer: C

Watch Video Solution

20. The weighted means of of first n natural numbers whose weights are

equal to the squares of corresponding numbers is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

n + 1

2

3n(n + 1)

2(2n + 1)

(n + 1)(2n + 1)

6

n(n + 1)

2

21. If a variable takes value 0,1,2,3,....,n with frequencies , , ,.....,1C1 C2 Cn

https://dl.doubtnut.com/l/_rrn9HdMsimV4
https://dl.doubtnut.com/l/_akyC4LtuIYyv
https://dl.doubtnut.com/l/_jSyXZfWEUpNG


A. n

B. 

C. 

D. 

Answer: D

Watch Video Solution

2n

n

n + 1

n

2

22. The weighted mean of first n natural numbers when their weights are

equal to corresponding natural number, is

A. 

B. 

C. 

D. 

Answer: A

(n + 1)(2)

2n + 1

2

2n + 1

3

(2n + 1)(n + 1)

6

https://dl.doubtnut.com/l/_jSyXZfWEUpNG
https://dl.doubtnut.com/l/_M4fmlvweKUmd


Watch Video Solution

23. If the first item is increased by 1, second by 2 and so on, then the new

mean is

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

¯̄X̄ + n

¯̄X̄ +
n

2

¯̄X̄ +
n + 1

2

24. If  are the means of two series such that

 is the mean of the combined series, then

A. 

¯̄X̄ 1 and ¯̄X̄ 2

¯̄X̄ 1 < ¯̄X̄ 2 and ¯̄X̄

¯̄X̄ < ¯̄X̄ 1

https://dl.doubtnut.com/l/_M4fmlvweKUmd
https://dl.doubtnut.com/l/_w5viHl4pT7bU
https://dl.doubtnut.com/l/_Vjby62BD9W2N


B. 

C. 

D. 

Answer: D

Watch Video Solution

¯̄X̄ > ¯̄X̄ 2

¯̄X̄ =
¯̄X̄ 1 + ¯̄X̄ 2

2

X1 < ¯̄X̄ < ¯̄X̄ 2

25. The mean of the series  is . If  is replaced by  then

the new mean is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x1, x2, ...xn
¯̄X̄ x2 λ

¯̄X̄ + x2 + λ

¯̄X̄ − x2 − λ

n

(n − 1)¯̄X̄ + λ

n

n¯̄X̄ − x2 + λ

n

https://dl.doubtnut.com/l/_Vjby62BD9W2N
https://dl.doubtnut.com/l/_PqAbxTQ24jYS


26. The mean income of a group of workers is  and that of another

group is . If the number of workers in the second group is 10 times the

number of workers in the first group, then the mean income of the

combined group is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

¯̄X̄

¯̄̄Y

¯̄X̄ + 10¯̄̄Y
3

¯̄X̄ + 10¯̄̄Y
11

10¯̄X̄ + ¯̄̄Y
Y

¯̄X̄ + 10¯̄̄Y
9

27. If the variable takes values  with frequencies 

, then the mean

is

0, 1, 2, …, n

qn, nC1q
n− 1p, nC2q

n− 2p2, ...nCnp
n,  where p + q = 1

https://dl.doubtnut.com/l/_PqAbxTQ24jYS
https://dl.doubtnut.com/l/_O5eIaHae9dvg
https://dl.doubtnut.com/l/_kFSa59qsrwWF


A. np

B. nq

C. 

D. none of these

Answer: A

Watch Video Solution

n(p + q)

28. The AM of n observations is M. If the sum of  observations is a,

then the mean of remaining 4 observations is

A. 

B. 

C. 

D. 

Answer: A

n − 4

nM − a

4

nM + a

2

nM − a

2

nM + a

https://dl.doubtnut.com/l/_kFSa59qsrwWF
https://dl.doubtnut.com/l/_2QJCLgQUPIOV


Watch Video Solution

29. The sum of squares of the deviation of the values of the variable is

minimum when taken about their arithmetic mean

A. AM

B. GM

C. HM

D. median

Answer: A

Watch Video Solution

30. If each of n numbers , is replaced by , then the new

mean is

A. 

xi = i (i + 1)xi

(n + 1)(n + 2)

n

https://dl.doubtnut.com/l/_2QJCLgQUPIOV
https://dl.doubtnut.com/l/_xra5Ajrkszs4
https://dl.doubtnut.com/l/_W6RPWzhPRtvR


B. 

C. 

D. none of these

Answer: D

Watch Video Solution

n + 1

(n + 1)(n + 2)

3

31. The mean age of a combined group of men and women is 25 yrs . If

mean age of men is 26 and that of women is 21 , then percentage of men

and women in the group , is ,

A. 60, 40

B. 80, 20

C. 20, 80

D. 40, 60

Answer: B

https://dl.doubtnut.com/l/_W6RPWzhPRtvR
https://dl.doubtnut.com/l/_bSE2xbnkLb9f


Watch Video Solution

32. Iin a moderately skewed distribution the values of mean and median

are 5 and 6 respectively. The value of mode in such a situation is

approximately equal to

A. 8

B. 11

C. 16

D. none of these

Answer: A

Watch Video Solution

33. One of the methods of determining mode is
 (a) Mode = 2 Median 3

Mean
 (b) Mode = 2 Median + 3 Mean
 (c) Mode = 3 Median 2 Mean
 (d)

Mode = 3 Median + 2 Mean

https://dl.doubtnut.com/l/_bSE2xbnkLb9f
https://dl.doubtnut.com/l/_p9FXZfMbjor5
https://dl.doubtnut.com/l/_SkTDpvdCvhg3


A. mode = 2 median - 3 mean

B. mode = 2 median + 3 mean

C. mode = 3 median - 2 mean

D. mode = 3 median + 2 mean

Answer: C

Watch Video Solution

34. The positional average of central tendency is

A. GM

B. HM

C. AM

D. Median

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_SkTDpvdCvhg3
https://dl.doubtnut.com/l/_jIaNeTJt5R6R


35. For dealing with qualitative data the best average is

A. AM

B. GM

C. Mode

D. Median

Answer: D

Watch Video Solution

36. If a variable takes discrete values

then the median is

A. 

B. 

x + 4, x − , x − , x − 3, x − 2, x + , x − , x + 5, (x > 0)
7
2

5

2

1

2

1

2

x −
5

4

x −
1

2

https://dl.doubtnut.com/l/_jIaNeTJt5R6R
https://dl.doubtnut.com/l/_WvhfwO0pAEcP
https://dl.doubtnut.com/l/_oqXdOIJmIorW


C. 

D. 

Answer: A

Watch Video Solution

x − 2

x +
5

4

37. Which of the following is not a measure of central tendency

A. mean

B. median

C. mode

D. range

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_oqXdOIJmIorW
https://dl.doubtnut.com/l/_6unR0RPkWHW8


38. If y = f(x) be a monotonically increasing or decreasing function of x

and M is the median of variable x, then the median of y is

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

f(M)

M /2

f − 1(M)

39. The median can graphically be found from

A. ogive

B. histogram

C. frequency curve

D. none of these

https://dl.doubtnut.com/l/_Xl2gIKkWdYKj
https://dl.doubtnut.com/l/_uhzY4mpEJMPR


Chapter Test

Answer: A

Watch Video Solution

40. If in a moderately skewed distribution the values of mode and mean

are  respectively, then the value of the median is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

6λ and 9λ

8λ

7λ

6λ

5λ

https://dl.doubtnut.com/l/_uhzY4mpEJMPR
https://dl.doubtnut.com/l/_bdfW6bt3u2QE


1. The arithmetic mean of first  odd natural numbers, is

A. n

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

n

n + 1

2

n − 1

2. The arithmetic mean of , is

A. 

B. 

C. 

D. 

nC0, nC1, nC2, ..., nCn

2n

n

2n − 1
n

2n

n + 1

2n− 1

n + 1

https://dl.doubtnut.com/l/_Zt7Q4iwNnPVe
https://dl.doubtnut.com/l/_UFklzyszjKJS


Answer: C

Watch Video Solution

3. The arithmetic mean of the squares of first n natural numbers is

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

n + 1

6

(n + 1)(2n + 1)

6

n2 − 1
6

4. Geometric mean of 3, 9 and 27, is

A. 18

https://dl.doubtnut.com/l/_UFklzyszjKJS
https://dl.doubtnut.com/l/_SgQ8jH9aB7Fh
https://dl.doubtnut.com/l/_X6vqjawNhovR


B. 6

C. 9

D. none of these

Answer: C

Watch Video Solution

5. If for a moderately skewed distribution, mode = 60 and mean = 66, then

median =

A. 60

B. 64

C. 68

D. none of these

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_X6vqjawNhovR
https://dl.doubtnut.com/l/_ZzHzCViGMOjS


6. the median of 10, 14, 11, 9, 8, 12, 6 is

A. 14

B. 11

C. 10

D. 12

Answer: C

Watch Video Solution

7. The mean of discrete observations  is given by

A. 

B. 

C. 

D. 

y1, y2, …, yn

∑
n

i= 1 yifi

∑
n

i= 1 fi

∑
n

i= 1 yifi

n

∑
n

i= 1 yi

n

∑
n

i= 1 yi

∑
n

i= 1 i

https://dl.doubtnut.com/l/_ZzHzCViGMOjS
https://dl.doubtnut.com/l/_JKV5vRbQRz2H
https://dl.doubtnut.com/l/_nQzDDTnsyZ0F


Answer: C

Watch Video Solution

8. The average
 of 50 numbers is 38. If the numbers 45 and 55 are

discarded, then the average
of the remaining numbers is
(a)
36.5 (b) 37 (c)

37.5 (d) 37.52

A. 36

B. 36.5

C. 37.5

D. 38.5

Answer: C

Watch Video Solution

9. The geometric mean of numbers  is7, 72, 73, …, 7n,

https://dl.doubtnut.com/l/_nQzDDTnsyZ0F
https://dl.doubtnut.com/l/_1BwHneKnk7Xa
https://dl.doubtnut.com/l/_HTNLS2hhsL4L


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

77 / 4

74 / 7

7
n− 1

2

7
n+ 1

2

10. The sum of deviations of n observations about 25 is 25 and sum of

deviations of the same n observations about 35 is -25 . The mean of

observations is

A. 25

B. 30

C. 35

D. 40

https://dl.doubtnut.com/l/_HTNLS2hhsL4L
https://dl.doubtnut.com/l/_Ok4ymgOKt8qr


Answer: B

Watch Video Solution

11. If the sum of the mode and mean of a certain frequency distribution is

129 and the median of the observations is 63, mode and median are

respectively

A. 69 and 60

B. 65 and 64

C. 68 and 61

D. none of these

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_Ok4ymgOKt8qr
https://dl.doubtnut.com/l/_lyW9cwVKxdU2


12. The mean weight of 9 items is 15. If one more item is added to the

series the mean becomes 16. The value of 10th item is (a)  (b)  (c) 

(d) 

A. 35

B. 30

C. 25

D. 20

Answer: C

Watch Video Solution

35 30 25

20

13. The mode of the data  can be

A. only 5

B. both 4 and 6

C. both 3 and 6

6, 4, 3, 6, 4, 3, 4, 6, 3, x

https://dl.doubtnut.com/l/_HUgIpTOmlFYg
https://dl.doubtnut.com/l/_PDxNzVq63GlS


D. 3, 4 or 6

Answer: D

Watch Video Solution

14. If the difference between the mode and median is 2, then the

difference between the median and mean is (in the given order)

A. 2

B. 4

C. 1

D. 0

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_PDxNzVq63GlS
https://dl.doubtnut.com/l/_BA7f3fnbDbSF


15. If the mean of the following distribution is 13, then p = 

A. 6

B. 7

C. 10

D. 4

Answer: B

Watch Video Solution

xi : 5 10 12 17 16 20

fi : 9 3 P 8 7 5

16. The mean of a certain number of observations is m. If each

observation is divided by  and increased by y, then

A. 

B. 

C. 

x( ≠ 0)

mx + y

mx + y

x

m + xy

x

https://dl.doubtnut.com/l/_6DrBW8MTofty
https://dl.doubtnut.com/l/_eTU0eoRWlFtX


D. 

Answer: C

Watch Video Solution

m + xy

17. The frequency distribution of marks obtained by 28 students in a test

carrying 40 marks is given below: 

 


If the mean of the above data is 20, then the difference between x and y is

A. 3

B. 2

C. 1

D. 0

Answer: D

Watch Video Solution

Marks: 0 − 10 10 − 20 20 − 30 30 − 40

Number of students: 6 x y 6

https://dl.doubtnut.com/l/_eTU0eoRWlFtX
https://dl.doubtnut.com/l/_Gban0mPRqp4f


18. If the median of  is 6 then x =

A. 6

B. 18

C. 12

D. 24

Answer: D

Watch Video Solution

, , , , (where x > 0)
x

2
x

3
x

4
x

5
x

6

19. If the median of the scores  is

3, then the mean of the scores is

A. 2

B. 3

C. 4

D. 5

1, 2, x, 4, 5(where 1 < 2 < x < 4 < 5)

https://dl.doubtnut.com/l/_LKOoWS0X99x5
https://dl.doubtnut.com/l/_gqaJwn22aliy


Answer: B

Watch Video Solution

20. Mode of a certain series is x. If each score is decreased by 3, then

mode of the new series is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x

x − 3

x + 3

3x

21. If the
 median of 
 , find the
 maximum

possible value of 

33,  28,  20,  25,  34,  x is 29

x.

https://dl.doubtnut.com/l/_gqaJwn22aliy
https://dl.doubtnut.com/l/_q8DyOHG5zCGB
https://dl.doubtnut.com/l/_cT0K9idWL25O


A. 30

B. 31

C. 29

D. 32

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_cT0K9idWL25O

